
Solution to Harvard Puzzle "Bookman" 

M A M O S E T P A G D 

A S O M A L I A G L I 

N T R O U T E T O E T 

R E A T F E W E R S T 
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E A N R E T I N A M E 

D I C I S E R G C A R 

I N A S T R E E T B A 

S T P E S T E R E A C 

T A R E M I S B A N E 
 

The omitted letters (in parentheses in the list below) spell 
ROBERT DARNTON 

 
Across 
1. MA(R)MOSET 
2. PAG(O)DA 
3. SOMALIA 
4. GLINT 
5. ROUTE 
6. TOE 
7. TREAT 
8. FEWER 
9. STAPLE 
10. (B)ORES 
11. COOK 
12. LIBRARIAN 
13. LEAN 
14. RETINA 
15. MEDICI 
16. SERG(E) 
17. CARINA 
18. STREET 
19. BAST 
20. PESTE(R) 
21. REACT 
22. AR(T)EMIS 
23. BANE 

Down 
1. MAN(D)RAKE 
2. DISTASTE 
3. PLAINT 
4. AMORAL 
5. INCA 
6. PROMOTE 
7. BR(A)ISE 
8. ESAU 
9. FOREST 
10. SMELTE(R) 
11. RATER 
12. TITI 
13. EWER 
14. IRE(N)E 
15. SPATE 
16. SINGER 
17. BAG 
18. ORCA 
19. (T)ACT 
20. EAGLE 
21. SON(O)MA 
22. BANDIT 
23. TOLERA(N)CE 

 

Kevin Wald solved the puzzle in 30 minutes. 


